Problem Set 3

1)  Consider the insurance signalling game when the customers are restricted to propose policies that offer benefit L.  (They are never allowed to make any other proposal.)  Show 

(a) There is only one SE where companies earn zero profits.

(b) There are no separating SE’s.

(c) There is a pooling equilibrium where companies earn positive profits.

2)  Show that the players’ preferences satisfy the single crossing property in the screening model.

3) Consider the two probability distributions,  and , on the outcomes x=1,2,3

(x=1) = ¼
(x=2) = ½ 
(x=3) = ¼ .

(x=1) = ½  
(x=2) = ¼
(x=3) = ¼

Show that  first order stochastically dominates .

Do these distributions satisfy the monotone likelihood ratio property?

4) Show that the contract at the intersection of the line p = B and the high type’s
indifference curve is indeed the contract that maximizes the low-type’s expected utility.
